Student: Instructor: Garth Isaalk Assignment: Polynomial etc fimctions

Date: Cowrse: precalc blitzer (1) practice diagnostic la
Time: Book: Blitzer: Precalculus Essentialg, 3e
1. Find the x-intercepts of the polynomial function. State whether the graph crosses the x-axis, or touches the

x-axis and turns around, at each intercept.

f(x) = (x — 2) * (x> = 25)

{JA. 2, touches the x-axis and turns around;
— 5, crosses the x-axis;
5, crosses the x-axis

()B. 2, touches the x-axis and turns around;
— 5, touches the x-axis and turns around;
5, touches the x-axis and turns around

{)c. —2, touches the x-axis and turns around;
25, crosses the x-axis

{JD. 2, touches the x-axis and turns around;
25, touches the x-axis and turns around

2. Divide.

x*=3x3—3x%+ 16x - 36

x?—4x+4
. 5 —160x + 144
DA x*=8x+33+—F————

X“—4x+4
OB. x*>+x-3
. 5 24
Oc x*+x-3—-———
X“—4x+4
OD. x*—8x+33
3. Find the vertical asymptotes, if any, of the graph of the rational function.

fi [ —
(x) x(x+4)

A x=0andx=—4
()B. x=4andx=—4

c. x= -

()D. no vertical asymptote
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4, Solve the polynomial inequality and graph the solution set on a number line. Express the solution set in
interval notation.
@x-5)(x+2)<0
DA (=0, —2]U[(5/4),2) OB, [—2,0)
e —— || ———————- <t ——————————
% 6 4 2 0 2 4 6 8 -8 -6 4 2 2 4 B 8
Dc (—o,(5/4)] OD. [-2,(5/4)]
i p—————{————}—> <t —,—
4 6 4 2 0 2 4 6 8 -8 -6 4 2 2 4 B 8
5. The graph of an exponential function is given. Select (5 fx) = — 2%
the function for the graph from the functions listed.
(LB, flx)=2"%
AY -
8- OC fix)=—-2"%
OD. flx)=2"%
b X
"\_|8 T T T T T T T /I__,-v—-'v— T T T T 8| -~
6. Evaluate the expression without using a calculator.

In ¢°*
DA —3x
OB. 33X

0Oc. e
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7. Solve the equation by expressing each side as a power of the same base and then equating exponents.
2(x—9);"6= ﬁ
Oa. {21}
OB 1(33/3)}
Oc. {12}
Op. {15}
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